Efficiency vs P,

- 02
o
2 0.18F
> -
2 0.16F
o
2 F
20.14
0]
0.12F
0.1F
0.08F
0.06F
0.04F
0.02F
q_.

0.8F- -+

Ratio

—s=— DQM_mkFit_baseline_lowPT
—e— DQM_mkKFit_baseline6iter_lowPT
—— DQM_mkFit_TT_RetrainV2_WP2_6iter_ep3_lowPT

.............................................

o
[N
N
TTT T 1] T TIT[rrr]
——

0_04!. ....... +*+ ............. ,. ...... +,***+.+ .........
0.02F-++eschreseeseineness AR SR ?

Efficiency vs ¢

o 0.]
Q :
Z 0.09F
2 :
5 0.08
o =
£0.07E-
o :

0.06f;

0.05f
0.04F
0.03E
0.02F
0.0

1.0

Ratio

rirr
L
M

TP @



	Contents
	Page 1


